
A
D

JU
ST

A
B

LE
 V

-B
EL

TS
 P

U
LL

EY
 P

R
B

 T
Y

PE

PO8LIE  P5B 7<PE 9A5IABLE 

 MATERIAL CAST-IRON G20
  UNI 5007

 PULLEY EXEC. N° BUSHE Ø e l l1 b1 dr d2 d3 R GRUB DIN 916 SECTION WEIGHT
 TYPE  GROOVES     min    max min   max    UNI 5929 BELT Kg.

PRB2 - 108 3 2 1215 108 73 58 13 20,5 68 92 48,5 60 34,5 No. 8 Z 10x6 2,40
          70 100    M6x6 A 13x8 
          75 93     SPZ 
          76 102     SPA
 
PRB2 - 120 3 2 1215 120 73 58 13 20,5 80 104 48,5 60 34,5 No. 8 Z 10x6 2,65
          82 112    M6x6 A 13x8 
          87 105     SPZ 
          88 114     SPA
 
PRB2 - 138 3 2 1615 138 73 58 13 20,5 98 122 58,5 74 34,5 No. 8 Z 10x6 3,60
          100 130    M6x6 A 13x8 
          105 123     SPZ 
          106 132     SPA
 
PRB2 - 160 3 2 1615 160 87 68 17 26,5 108 138 58,5 74 48,5 No. 8 A 13x8 5,60
          112 150    M8x8 B 17x11 
          114 140     SPA 
          117 153     SPB
 
PRB2 - 180 3 2 2012 180 87 68 17 26,5 128 158 71 90 54 No. 8 A 13x8 7,15
          132 170    M8x8 B 17x11 
          134 160     SPA 
          137 173     SPB
 
PRB2 - 200 3 2 2012 200 87 68 17 26,5 149 177 71 90 54 No. 8 A 13x8 8,92
          152 190    M8x8 B 17x11 
          155 179     SPA 
          159 193     SPB 

l1
b1 min

Ø
 e

dr
 m

in
dr

 m
ax

b1 min
R

l

d3 d2

EXECUTION 3

8

3 TRANSMISSIONS _ www.3transmissions.eu _ +330 188 321 885 _ sales@3t-rathi.eu


